41202-44 TRIM MAC 12 TE-I1 03/95 to 05/96 IPL 46802-65 Page 1 of 2
Electric String Trimmer/Edger




41202-44 TRIM MAC 12 TE-I1 03/95 to 05/96 IPL 46802-65
Electric String Trimmer/Edger

Page 2 of 2

Ref # Part Number ty Description

1 300834-00 1 HANDLE ASSEMBLY

2 09075-99 1 BOLT 1/4-20 X 2-1/2

3 13035-99 1 NUT1/4-20

4 322719-00 1 KNOB

5 37106-00 1 ASSIST HANDLE / CAP ASSY
6 32125-96 1 SHIELD ASSEMBLY 12"
7 322624-00 1 COVER -HEAD

8 41200-00 1 SPOOL WILINE .065

9 28008-99 1 SPRING

10 15031-99 2 SCREW 8 X 3/4 PAN

11 09032-99 2 BOLT 1/4-20 X 1-1/2
12 322719-00 2 KNOB

13 13035-99 2 NUT 1/4 - 20



